Formules trigonométriques

sinzx + cosix = 1

t 2
cos2x = 1 gx

— sinfx = —<2 1 + tg2x =
1 + tg*x 1 + tg2x c0os?x
sin(n — x) = sin x sin(n + Xx) = — sinx sin (—x) = — sin X
COS (m — X) = — COS X CosS(m + X) = — COS X cos (—Xx) = COS X
tg(n —x) = — tgx tg(r + x) = tg x tg(—x) = — tgx
sin @ —x) = cosx sin@+x = cosx
cos (F —x) = sinx cos F + x) = — sinx
n T
tg 7 — X) = cotg x tge + X) = — cotg x
sin(x + y) = sinxcosy + cosxsiny tgx + tgy
. e : tgx +y) =
sin (x — y) = sinxcosy — cos x siny 1—tgxtgy
COS (X + y) = cosx cosy — sin x siny tg(x —y) = tgx —tgy
cCos(x —Yy) = cosxcosy + sinxsiny 1+ tgxtgy
sin 2x = 2 sin x €os X 2 cos?’x = 1 + cos 2x
CcOoS 2Xx = cO0S2X — sin2x 2 sin?2x = 1 — cos 2x
sin2x =_ 219X cos 2x = 1+ — g% tgﬂ:&
1 + tg%x 1 + tg?x 1 — tg*x
sin 3 x = 3 sin x — 4 sin3x cos 3x = — 3 c0os X + 4 cos’x
sinp + sinq = 2 sin p+2-q cos p;q
. . B : p=q P+q _ _sin(p+q)
sinp—sing = 2 sin 5 Cos 2 tgp + tgq = oS CoR G D 60S q
N P+q P—q _ __sin (p—q)
COSp + cosq = 2 cos 5 COs tgp—tgq = T
cosp —cosq= — 2sin p-;q sin p;q

sinxcosy = % [sin(x+y) + sin (x—y)
cosx cosy = % [cos(x+Yy) + cos (x—Y)]
sinxsiny = % [cos(x—y) — cos (X +Y)]




